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5/5 :dolMslI

The metallic bond au;lall akul,Jl :Q.1

of the following is responsible for the good electrical
tivity of metals?

TS Jaa gill Basa I AN 08 08 Jgpanall g LiLaa sl

‘he arrangement of the metal atoms in separate layers

Adadia clih & IR0 Gld s

‘he high density of metals atoms

SUAD A Ahall ABLSY)

‘he ability of delocalized electrons to move freely

Ay g 48 jall o dad galall e Gl g STY) 3 a8

'he ability to separate the metal atomic orbitals with small
mount of energy

O |m|o|l >

ALE A3l Al 53 $E] Jad e adll







Periodicity ay,9J :Q.2

5/5 :dolsJI
e correct ascending order of the first ionization salie ga J8 J ¥ ol dls Qs uasall gaelalll Gl il L
he group 2 elements shown in the table below? ¢ olial J gandl B Apall A1 A ganal)
Element symbol Be |Mg|Ca| Ra
yaiall Gay
Atomic number 4 |12 | 20| 88
GA axl)
est) Ra = Ca— Mg — Be (highest) [J_,s'ﬂ]. Be < Mg+« Ca+ Ra [,_Lgin} A
est) Be - Mg — Ca — Ra (highest) (ssY)Ra « Ca« Mg« Be (J&).B
est) Ra — Ca — Be —» Mg (highest) (;‘sw) Mg < Be < Ca+< Ra [,_3511} .C
est) Be —» Ga — Mg — Ba (highest) (Y)Ba « Mg« Ca« Be (J&).D

dnipel] dusalill Olojiall






Bohr’s model g 5900 :Q.3

5/5 :do M=l
According to Bohr's model, an excited atomwould ............... | .cceeenn. i o B_fiiuaal) 31 ¢ g pigad Jo Bl
A. collapses S A
B. Absorbs photons Gl gigh alad B
C. Remains stable 5 iiwa A5 C
D. Emits photons Cligigh (3lki D

.a
A

b
B

.c
d



5/5 :doll=ll

Covalent compounds auwd bl wlS,oll :Q.4

ng name of the molecular compound shown

®alial J gaadl B ol Jgtad) B Aada gall il Jall raal) £ i e

v?

la 4aual | Scientific name ralall oY)

6 Sulfur hexafluoride Ca Sl 0 ) g8 b
) Nitrogen dioxide O g ) A A
)3 Nitrous acid Ja Al paaa

| Hydroiodic acid élid g gl (aaa

A .a
b

B

C E .C
d
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5/5 :dolMslI

The scientific name swl=l ooVl :Q.5

5 the scientific name for the chemical formula below?

Folial Apliassll daguall alall austy) La

Cu(NOs):

\. Cupper (ll) nitrite

(1) oebadll 2y i A

3. Cupper (ll) nitrate

(11) ool &) jisi B

.. Cupper (l) nitrite

(1) ol & i .C

). Cupper (l) nitrate

(1) oeadll @l D




orbitals M5Vl :Q.6

5/5 :doM=lJI
What is the difference between the orbitals Tolial Alpall DY) (py DAY A g La
shown below?
l.| Difference in shape Jodh A daaay |
Il.| Difference in orientation ol oAy |
.| Difference in the maximum number of W ging Of (Saa clig asl) e a8 CiDEAY) |
electrons that can contains

|
(2) @)
.a
A
i b
B j
.C
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Period &,92J1 :Q.7

5/5 :do M=l

of the following describes elements in the same period? 05 gl (il (A pdiiadl i A .:._Ei

They have the same number of valence electrons. SRl Sl g SN e el W | T

They have the same outermost energy levels do A1 adllall Sl glen i g | I

They have similar properties Apaiia padbad el | TIT
“only hid T A
1 only Lid[] .B
1 and III only LETI I .C
_ and III only LE T 51 .D

doyiyel|l dreulsill Ol yell
1 o
.a

ffF . S N S R R S S R R R R 1

1 |

- 'b
: B i

1 |

1 |

1 |

o o o o o R R R N R RN R RN RN RN RN RN R RN R RN R RN R RN R RN R RN R RN R NN R NN N RN N RN NN NN NN NN NN RN NN NN NN NN NN RN RN NN RN R RN R NN R NN R NN R RN R RN R RN N RN N RN NN RN NN NN NN NN NN RN NN RN NN NN RN RN RN R A ol






Ioni sVl S yoll 1Q.
5/5 :d0\lsJl onic compound (sigVl S0l :Q.8

h of the following statements is correct according to Palal Joliill dpuilly Aasaia A0S0 i lall (o)
saction below?

:Mg + :0:: — |:I‘~f|a:_:;:|2+ + [0]2-

2 electrons are transferred from Mg to o Mg & g sl i) LA
After the reaction, Oxygen (O) is considered as GBS (0) CpamsY) Jiag (Jolit)) 20y B
cation

The formula of the formed compound is A O3] S el Bha C
The overall charge of the formed compound is R O3Sl el A Al D

: ' a
: A i
b
B
.C






Electron configuration  sug,sSIVI i)l :Q.9

5/5 :dol\=ll
im of the Sodium element (Na) has a total of o S SN 0 sl 3 o (Na) pgpd sl paic 53 6 giad
:trons. s 11
ine which sub-level is partially filled. i s ina (8 b g glaa gl d0n
2P :
b
3P
E Ys E .C
d



) The pseudo-noble gas configuration Juul acw jlel sug,uSIVI syl :Q.10
5/5 :dolsJI

What is the pseudo-noble gas configuration for Zn f2e" 4hil Ladie Zn (e a1 530 Jaudl) i ALl 3 SV ) L
atom when it loses 2¢? (Zn: 1s* 25" 2p° 3s* 3p° 4s* 3d")
(Zn: 1s* 25" 2p°3s* 3p° 4s* 3d"")

.a
[Ne]3s23P®3d®

b
[Ar] 452348

.C

[Ne]|3d?®



Elements location ,.olell g3lgo :Q.11

5/5 :dolsll
ich number represents the alkali metal group in Tolial Cpall (JSAN (3 4y olh) 2 3l s A8 gana Jias a5}
figure below?

iyl dranlsil] Oloyaell |






Periodic table s,9.Jl Jga=l :Q.12

5/5 :dolsJI
| of the following table represents an atom with the ) gy il 9 0 g A gl e
ing electron configuration: [Ar] 4s’ 3d" [Ar] 45’ 34"

dniyel] duslsill Slo ol

1 o
3 o
.a
anal) de ganal) 8y 9all
block group period
S 3 3
.b

zaaall is ganall By}

block group period




-

paaall | Asganal By 92l

block group period
d 3 4
el ds ganal) §y9al)
block group period
d 4 3




Ionic diameter _sigVl sl :Q.13

5/5 :do\lsll
figure below, if A represents an tom and saindl il 0¥ s By 8o Jag A OIS 13 ¢ olidl JSAN Ladiieia
nts an ion of the same element dagoua Al Ci il g

‘he following statements is TRUE?

O o

8)3 og!
Atom lon
s positive as the ionic diameter becomes larger O3 SN glasé die 58T 3 kil mual Cus Cange Y A
electron is lost
dayiyell duoylill Oyl
2 ©
.a
b






5/5 :dols)| Aufbaus principle glégl lauwo :Q.14

Vhich of the following orbital diagrams violates Aufbau’s principle? | ¢ sty law CALAS A0 ) Cilbbiia JSLI (e ]

.a
1s’
.b
T {Td
15" 26°
.C
13 2

15" 26 2p°

g i



5/5 :doll=ll

The chemical formula of the ionic compound  sigVI S o)l d2uo :Q.15

s the chemical formula of the ionic compound formed
luminum (Al) and oxygen (0)?

wum belongs to group 13 and oxygen belongs to group 16 | Jsal (» 16 45 gaad) D) (V15 13 45 gaaall M) o galaly)

2(0) Cuameas¥l g (Al) posial¥) palds (i ) (o o) i pal) v

periodic table g5

.a

AlL0,

: ' b
; A|203 :

.C

AlO
d



5/5 :dolMsJI Block goxoJl :Q.16

rion refers to the d-block in the following diagram? ¢ slial Euu-dl Jeidl A d paaadl Al JRCCETRN L_Ei.'.

(A)
A

1

byl daddsill Sloyaell

3 o







The lattice energy as..adl aslb :Q.17

5/5 :do M=l
» main reason for the difference in the lattice energy Gt ) Sl g Lo 480000 AU o B3GR 8 Gt I sl L
veen the ionic compounds shown in the table below? folial Js2ally Opmaia sall
AN Zlk K
Compound Lattice Energy (Ki/mal)
Kt/ mol)
NaF 910 35?19!]5 ':;g
MgO 3795
Period 2 Li| Be| B | C | N[O | F |Ne
2 EJ 5J-Il .I|||I!rf' Brraiiam (L] i L atan [ o] LR Fhariiis in
Periodd 'Na (Mg | Al | Si | P | S | Cl | Ar
3 EJ&-\JJ St | Aduppeticrm | Mominum | Sleon | Feoapbeius | Siiphar {kowrires LIy
ne Aharaa A A oeds. B a

.a
A i
.b
B
.C



oo alall 130 Jaasi i
4hle)ll Zoliall 2950
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Strength of bond alal,Jl 3¢5 :Q.18

5/5 :doMsll
ct ascending order of the molecules dnanlodll Aoyl )l 5 g8 caan pamall (538 Ll o A1 La
below according to the strength of the olial ) gaalls 340 ol ASAN iy jall
(m) akadyll Jsha
Bond length (m)
1.54x10710 c-C
1.34x10710 c=C
1.20%107%° c=C
- s =5 —( (Stronoect) (-39 r ., r=r. r—rf{ w25 ;A

.a
A
i b
B i
.C



oo alall 130 Jaasi i
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Sigma bond and pi bond sU lulg )9 lozaw Jaulg, :Q.19

5/5 :doll=ll
1 of the following bonds contains one sigma ¢ (1) b Caladyg (0) Laowss Banly Ay o Gy AN Jufy )
(¢) and two pi bonds () ? : . J

F—F
2| = b
0=0



5/5 :dolMslI

Ions forming <ol ¢ueS

The group 16 elements of the periodic table tend to
gain electrons to attain a stable outer electron

configuration and form ions.

What is the charge of the formed ions?

g ) ladS) ) g sl Jyad) (0 16 4 ganall palis
gl A i) Al g 58N i D) ) Jgeal

Y43 3al) il g Adnd La

2+

1+

:Q.20



